
MECCANO (AMERICA) - MECCANO MORECRAFT 1 
 

USA 
NAME MECCANO MORECRAFT 
 
TYPE Constructional Engineering 
 
HOLE DIAMETER 4.3mm HOLE SPACING 12.7mm  ( ½” ) 
 
SETS IN SYSTEM Total of 7 : Beginner, Craftsman, Designer, Designer Special, Engineer, Fellow, Graduate. 
 These were identified by letters – B, C, D, DS, E, F, G. 
 Other Meccano items – Microscopes, Meccano Brik, Meccano Foundry, Detective Kit, Telescope 
 
DIFFERENT PARTS 64 
 
COLOUR Black, red and nickel plated 
 
FIXING METHOD Nut and Bolt (8-32) 
 
MOTORS 2 Electric 
 
PERIOD 1934 to 1936/7 
 
MANUFACTURER Meccano Company of America Inc., New Haven, Connecticut, USA 
 Distributors – Skipper Toy Co. Inc., Branford, Connecticut, USA 
 
COMMENTS This was the last of the A.C Gilbert Co. dominated Meccano Set systems. In 1937 the system was sold to 

the Skipper Toy Co. Inc (see MODERN MORECRAFT). Only a few parts of this system are compatible with 
Meccano. It first appears in the 1935 catalogues but is not in 1937 catalogues. Patent was dated 1935. The 
Designer Special set was the Designer set with the addition of the M1 motor. All the larger sets also had this 
motor. The manual also included four large ‘blueprints’. These were large double sided sheets of paper. 
Each side was divided into quarters (approx. the size of the manual, which had constructional details and 
part lists for all models from Designer upwards. 

 
OTHER SYSTEMS 11/290, 12/331, 13/357, 16/432 
NEWSLETTER 
MATERIAL SUPPLIED BY  F. Beadle, Kendrick Bisset and Orion DreamDancer 



MECCANO (AMERICA) - MECCANO MORECRAFT 2 
There was just one manual, which included models for all the sets. 

 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 3 
 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 4a 
The parts from the manual 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 4b 
From the manual 

 



MECCANO (AMERICA) – MECCANO MORECRAFT 5a 
The introduction page from the manual 

 

 



MECCANO (AMERICA) – MECCANO MORECRAFT 5b 
This was the format for Beginner and Craftsman set models 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 5c 
The rest of the sets used ‘blueprints’ to give constructional detail and parts lists with 

The manual showed a picture of the model – see the next two pages for the models detailed below. 
(The ‘blueprints’ were large double sided sheets each folded and divided into four quarters – one quarter is shown below 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 5d 
See page 5c for the ‘blueprint’ associated with this model 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 5e 
See page 5c for the ‘blueprint’ associated with this model 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 5f 
Another example of a ‘blueprint’ – see page 5g for manual picture 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 5g 
See page 5f for the ‘blueprint’ for this model 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 5h 
 

 



MECCANO (AMERICA) - MECCANO MORECRAFT 6a
This parts list is an ‘guesstimate’ complied from the parts list for each of the models shown in the manual. 

Part No. Description Beginner Craftsman  Designer Designer 
Special  

Engineer Fellow  Graduate  

A-0 Angle member, 1 ¾” 6 8 8 8 8 12 14 
A-1 Angle member, 1 hole, 3 ¼” 4 9 12 12 12 20 39 
A-2 Angle member, 5 hole, 5 ¼” 2 6 10 10 10 18 34 
A-3 Angle member, 9 hole, 8 ¼” 2 4 6 6 6 8 12 
A-4 Angle member, 17 hole, 12 ¼”      4 8 
AF Hook 1 1 1 1 1 1 1 
B-1 Angle Bracket (Meccano No.12)     2 4 4 
B-2 Angle Bracket (Wide Beam part ?)     2 3 3 
B-3 Motor Support Bracket        
C-0 Connector, hanger & lock 4 6 8 8 8 12 32 
C-90-X Connector, 90o corner 4 6 8 8 8 14 14 
C-135-ZL Connector, 135o angle left 1 2 2 2 2 4 8 
C-135-ZR Connector, 135o angle right 1 2 2 2 2 4 8 
C-180-D Connector, double straight angle long   1 1 1 2 4 
C-180-DS Connector, double straight angle short  3 3 3 3 4 6 
C-180-Z Connector, 180o straight  2 4 4 4 6 12 
C-360 Connector, boom end   2 2 2 4 6 
C-G Graduate Size Wooden Cabinet        
CH-1 Crank Axle 4 ½” shaft 1 1 1 1 1 1 1 
CH-2 Crank Axle 6” shaft      1 1 
CR Eccentric       1 
D ½ 1” Metal Drawer        
D1 2” Metal Drawer        
G-1 12 Tooth Gear     1 1 2 
G-2 18 Tooth Gear     1 1 1 
G-3 36 Tooth Gear 1 ½” dia     2 2 2 
K Key 4 6 8 8 8 13 13 
M-1 110VAC Induction Motor    1 1 1 1 
M-2 Universal Motor        
N-1 Square Nut 8-32   8 9 20 26 48 
P-4 Base Plate 1 1 1 1 1 2 2 
P-02 Paper Panel, 7 x 3 ½”   2 2 2 2 2 

 



MECCANO (AMERICA) – MECCANO MORECRAFT 6b
 

Part No. Description Beginner Craftsman  Designer Designer 
Special  

Engineer Fellow  Graduate  

P-11 Paper Panel, 4 ¾ x 4 ¾”   2 2 2 2 8 
P-12 Paper Panel, 7 x 4 ¾”  2 2 2 2 2 6 
P-13 Paper Panel, 11 x 5”       1 
PD-1 Pierced Disc 1 ¼” dia 8 holes     2 2 2 
PD-2 Turret Plate 2 ¾” dia 12 holes/4 slots   1 1 2 2 2 
PT-11 Paper Panel, triangular, 4 ½ x 4 ½”        
R-0 2 1/8” Axle Rod 1 1 1 1 1 1 4 
R-1 2 7/8” Axle Rod   1 1 2 2 2 
R-15 4” Axle Rod   1 1 1 2 5 
R-2 5” Axle Rod 2 3 3 3 3 3 3 
R-3 6 ½” Axle Rod   2 2 2 2 4 
R-4 8 ½” Axle Rod 1 1 2 2 2 2 3 
S-1 Screw, 8-32 x ¼”   5 8 12 15 31 
S-2 Screw, 8-32 x 7/8”   4 4 4 6 6 
S-3 Screw, 8-32 x 1 3/8”?      2 2 4 
S-4 Collar   2 2 5 5 8 
SN Snap Rivet  4 4 5 5 16 20 
SP Spring     1 1 1 
ST-5 5 Hole Strip Member     2 4 4 
ST-7 7 Hole Strip Member   2 2 2 4 4 
ST-11 11 Hole Strip Member     2 2 4 
ST-21 21 Hole Strip Member     2 4 4 
W Washer     4 6 6 
W-0 Motor Pulley    1 1 1 1 
W-1 Sheave Pulley ½”  1 1 1 1 4 4 
W-2 Pulley 1 ¼” dia 4 holes 4 4 4 4 4 4 4 
W-3 3” Pulley (Meccano No.19b)      4 4 
W-25 Pulley 1 ¼” dia 4 holes    1 1 4 4 
WG Worm Gear     1 1 1 

 Wrench   1 1 1 1 1 
 Screwdriver   1 1 1 1 1 
 Rivet Extractor  1 1 1 1 1 1 



MECCANO (AMERICA) – MECCANO MORECRAFT 7a 

 
 


